PDINN 77 7192

"IX2 LRI? K

923 °52 oYY

7822 WX "222 WD)
,N30R 7183 12 N79TEN
- IR RP PNy "2

72X ,72 NI "IN
139370 DWW 77392
WW K] 720 Y3
1779 12102 py 0w
110 DY M3 VP
DI Tn *on3 12

- ?I"J"-W"Kﬂ

2N 32 NH2R 3K
nINR 923 iPX3 TR

= I3 MYPR NiTa by
= 733 NPRY

JPR PWR 0 1Y
A1NIID NR XY

"2 52 NX Y

- whnoaw by

AP KN

nInx 93

DR T 122
"JIK32 LXI? X
7523 °D2 T

IR IRY2

122 7% Mo )
NITRM? 12 YY)
= DX DRY2

11 122

,OXDD MK NK

— 1 0%n o2 o
NIRY? T 3K
07y 0°30n %y 0°30n
AWNR22 0PI
WYNm LpY 77ip
DR 1 122

X2 Yom 77 Yo
AN AR XY

X320 NIPIY

DR "X

02,2 PT 217
W3 I 10 K 3097
0 *X 093,18 K

JTRD IR DX P

717 %9 17 UK PR OX)
Y277 7112 1KY K12 197
- PDIvP 3N

— 170 npn irKaD
PIN™PIN 92 I
M2 X7U

R

% NN

D193 WORD

.0i%na vx *nvian

Y7 XY

2900 X5 X712 XD PR
M9 XY

il s

IR KD IR K70
TR MO 7

XD X7 "X 03

TR K 1X2RY °» D
T T NRT 22 1R
Biethl

ATy MBI DTN

Je1 2y 2an

2 MY T M

BT PR Ninionay

0°38 7IRR2 *2X TN Y0
— MK MY YU 0
,PNEN 20N TR0 oY
ny 923w p %y non 03
A ¥2y nion? wex
IR NRT, 7778 X
P70 TP P NINK
PN TP 7Y 0BV 77
JT1 12920 TRY i
2R M 20

122 9T IR 7R IR 0

NPNTY *nn2n 1% . npnY

737 °NIVE DRIV WK
YR KD 790) DX 9%
Y v ,0RND %Y 373 3K

\ PG P ARV ,nawn ,nba

N PR 2RV Yo7
N2 DYD AN TR
SRR ARY T

= T KPYT T K0T

Rehriy Rl

356-355 [1"2]

50




